
CLASS :XI MATHEMATICS .· 

1. Let S be a set with 100 elements. How many subsets does 
S have which contain atleast 50 elements? 

2100 
(A)-

2 

~oo 1ooc 
(B) ~ - 50 

2 

(D) 100C 
50 

2. Find the distance between the two intersections of the 
line, y = 2x - 3, and the parabola, y = x2 + 2x - 7. 

(A) Jl3 units (B) 4 units (C) $3 units (D) J80 units 

3. Let y = 10 + 3x- x2, where x andy are positive whole 
numbers. Find the sum of all possible values of y. 

(A)66 (B)40 (C)15 (D)lO 

4. Find the sum of all real solutions to the equation 
y2 = 15 -4yl. 

(A) 0 (B)-4 (C) 8 (D) None of these 

5. If x•- (1 - 2i) x = (! + i). then the complete solution is: 

{
1 ± 2i} 

(A) 2 

{
l+i 1 +3i} 

(C) - i-,-2--

1 1 1 1 

{
1± 3i} 

(B) 3 

{
1- i 1- 3i} 

(D) 2'_2_ 

6 S. lify 2 -4 8 - 16 . l.Dlp : X • X • X • X ••••••••• 

(A)x (B) Ji (C)~ (D) ifX 
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CLASS :XI·II~II 

7. Let L denote th 
(7, 1) and the cent 
Which of the followtn1 IMI .. Ii 
(A) (8, 3) (B) (-3, 7l 

8. If the system of equation 

r=~~nx+S l y = 7 cos x + 3 sln a 
is solved simultaneously for 0 ~ x · rt, th value of'Y' must 
be: 

(A) 4-J2 (B) 5-J2 (C) 2../5 C0)2 
9. Given three sets A, B and C for which the following is 

true. A indic~tes the complement of A. 

n} 

( (i) (A n B)u C = {1,2,3,4,5} "\ 

(ii) A u (B nc) = {2,3,6, 7,8} 

(Ill) B C.~==-===::9 

( ll> Nono uf Hu~~c 

10. n that thf' point8, (1, 4), (6, 12) and (c, 10) are collinear, 
what Ia tht.~ value of "c"? 
<A) 3.5 (B )4 (C) 4.25 (D ) 4.75 

11. Let "Z" denote a complex number and define 

S = {- 1
- : I Z I= 1 and Z ;e 1} . Which of the followin« best 1-Z · 

describes the set "S", when "S" is interpreted georrwt.ncally 
as a set of points in the ~omplex plane? 
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(A) S is a straight line parallel to the imaginary axis 

(B) Sis a parabola 

(C) S is a circle 

(D) Sis a hyperbola 

12. How many solutions, x, does the equation tan(2x) = cot(x) 

have if 0 ::;; x ::;; 2n ? 

(A)3 (B)4 (C) 5 (D)6 

13. Let P (n ) : '2n < (l x 2 x 3 x ........• x n) 1
, then the smallest 

positive integer for which P(n) is true is: 

(A)1 (B)2 (C)3 (D)4 

14. Let a relation R be defined by 

R = {(4,5), (1,4), (4,6), (7,6), (3,7)}, then R o R = __ _ 
(A) {(1,4), (1,5), (3,6)} (B) {1,5), (1,6), (3,6)} 

(C) ((1,5), (1
1
6), (3,7)} (D ) {(1,4), (1,5), (3,7)} 

15. H f:A --7 Bis surjective, then __ 

(A) n(A) ~ n(B) 

(C) n(A) ~ n(B) 

(B ) n(A)=n(B) 

CD) None of these 

16. The equation ZZ + ( 4- 3i )Z + ( 4 + Si)Z + 5 = 0 represents a 
circle whose radius is ___ _ 

(A) 2.J6 (B ) 5 
5 

(C)-
2 

CD) 1 

17. Solution set of the inequations 2x- 1 ~ 3 and 3x + 1 ~ -5 is: 

(A)(-2, 2) 

(C ) (-oo,-2] U [2,oo) 

(B ) (-oo,-2)u(2,oo) 

(D) [-2, 2] 

18. How many numbers greater than 1000 but not greater than 
4000 can be formed from the digits 0, 1, 2, 3, 4 when 
repetition is allowed? 

(A)350 (B ) 375 CC) 450 (D) 576 
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7. Let L denote th 
(7, 1) and the cont 
Which of the followln 
(A ) (8, 3) (B) (-3, 7> 

8. If the system of equation• 

( y ~7 sin x + 3 co• 

l y = 7 cos x + S sin :x 

is solved simultaneously for 0 ~ x rt, tha valu of''y'' must 
be: 

(A) 4J2 CB) s-J2 (C)2.J5 {-})) 2 
9. Given three sets A, B and C for which the following is 

true. A indicl!tes the complement of A. 

( (i) (A,-,B)uC = {1,2,3,4,5} l 
(ii) A u(B n C) ={2,3,6,7,8} \ 

<iii) B c C ) 

ct A iN t wice the total of 
I m nta of B"l 

II} (Ill None of Uwso 

10. tv ll thad the points, (1, 4), (6, 12) and (c, 10) are collinear, 
what j" the value of"c''? 
(A) 3.5 (B) 4 (C) 4.25 (D) 4.75 

11. Let "Z" denote a complex number and define 

S = {-
1
-: I Z I= 1 and Z * 1}. Which of the followina bost 1- Z · " 

describes the set "S", when "811 is interpreted geonu trloally 
as a set of points in the ~omplex plane? 
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(A) S is a straight line parallel to the imaginary axis 

(B) Sis a parabola 

(C) Sis a circle 

(D) Sis a hyperbola 

12. How many solutions, x, does the equation tan(2x) = cot(x) 

have if 0 $ x s 21t ? 

(A)3 · (B)4 (C)5 (D ) 6 

13. Let P (n) : '2n < (l x 2 x 3 x ...•..... x n)', then the smallest 
positive integer for which P(n) is true is: 

(A) 1 (B)2 (C)3 (D )4 

14. Let a relation R be defined by 

R= {(4,5), (1,4), (4,6), (7,6), (3,7)}, thenRo R== __ _ 

(A) {(1,4), (1,5), (3,6)} (B) {1,5), (1,6), (3,6)} 

(C) {(1,5), (1,6), (3,7)} (D) {(1,4 ), (1,5), (3, 7)} 

15. If f: A ~ B is surjective, then __ 

(A) n(A) ~ n(B) 

(C) n(A) ~ n(B) 

(B) n(A) = n{B) 

(D) None of these 

16. ';fhe equation ZZ + ( 4-3i) Z + ( 4 + 3i )Z + 5:: 0 represents a 

circle whose radius is ~---

(A) 2../5 (B)5 (C) 5 
2 

(D) 1 

17. Solution set of the in equations 2x- 1 s 3 and 3x + 1 ~ -5 is: 

(A) (- 2, 2) 

(C) ( -<>0, -21 v [2, oo) 

(B ) (_,.,,-2)v(2,oo) 

(D ) [-2, 2] 

18. How many numbers greater than 1000 but not greater than 
4000 can be formed from the digits 0, 1, 2, 3, 4 when 
repetition is allowed? 

(A)350 (B)375 (C)450 (D) 576 
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• 19. If x = a (sece +tans) , ~ b( 8 8)
1

• then ry2 = - -
(A) ab sece 

(C) a2b4 

20. Area of the triangle in the Arpnd cUapam formed by 
the complex numbers Z, iZ and Z + IZ la: 

(C) IZ I 

21. The number of solutions of the system of equations given 
below is: 

r I X I+ I y I~ l;x• + y• =a 2 ' ~<a< 1 

(C)4 (D)8 

••••• 111111 ......... 1 (91 times) is: 

.ftWR (B) un 1 wm number 

(f)) nil oftlw t• 

(C) 120 (D) 36 

Lt 2J2- ( cosx + sinx )
8 

= 
24· x-•!!. 1-sin2x --

4 

3 
(A) J2 

1 
(C) J2 
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(B) J2 
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(D) J2 
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. tan3x - tan2x -= 1 .. 25. · The set of values of x, for which 1 + tan ax. tan 2x ts. 

(A) 0 

26. If the extremities of a diagonal of a square are (1, -2, 3), 
(2, -3, 5), then the length of its side is: 

(A ) J6 (B ) J3 (C) J5 (D) J7 

27. X y J2 touches the ellipse 
r Y2 • 

If - +-= 2 -:z+--r =1, then tts 
a b a b 

eccentric angle It e" is equal to: 

(A)QO (B) 90° (C) 45° (D) 60° 

28. If x.
1

, X
2

, x
3 

as well as y
1

, y
2

, y
3 

are in G.P. with same 
common ratio, then the points P(x

1
, y 1), Q(~, y 2) and 

R(x
3

, y 
3

) are : 

(A) lie on a straight line (B) lie on an ellipse 

(C) lie on a circle (D) vertices of a triangle 

29. Let f(x) be a polynomial function of second degree. 
Iff(1) = f(-1) and a, b, care in A.P., then fl(a), f!(b) and fl (c) 
are in: 

(A) A.P. (B) G.P. (C) H.P. (D) A .G.P. 

30. If 2a + 3b + 6c = 0, then atleast one root of the equation 
ax2 + bx + c = 0 lies in the interval __ _ 

(A) (1, 2) (C) (0, 1) (D ) (1, 3) 

31. The locus of the middle points of chords of the hyperbola 
3x2 - 2y2 + 4x- 6y = 0 parallel toy= 2x is: 

(A) 3x- 4y = 4 (B) 3y- 4x = 4 

(C) 3x- 4y = 2 (D) 3y- 4x = 2 

U C N/2 0 09/XI (PCM) 

www.examrace.com



32 If sinx ( • )x th dy -• y = x + smx , en dx - - --

(A) x5
inx (~ + cosx-logxJ+ (sinxt (xcotx -logsinx) 

Sin X 

· (sinx J · x (B ) Xs:mx -;z-+cosx-logx + (sinx) (xcotx+logsinx) 

(C) x 9
iux (x·cosecx-co~x-logx)+ (sinxf (x-cotx +logcosx) 

(D ) xsinlt (x·cosx -sinx·logx)+ (sinxt (x·tanx +logsinx) 

33. The coefficient of the middle term in the binomial 
expansion in powers of x of (1 + a x)4 and of (1 - a x)6 is 
the same if a=---

r, 
( ) 8 

3 
(B) -

5 
-3 

(C) 10 
10 

(D)-
3 

JH 0, t.h n Nin( a+2 P) is equal to: 

(A) 6! (B)18700 
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(n) , . ., .. ct (D) sin~ 

I t ... of th word ''NATION'' can 
1 of th following figure so that 

(C)18720 (D) 8! 

www.examrace.com



Unified Coun~ff ~ 

86. If a, b, c are real numbers such that a > b, c< 0, then __ 

(A) ac <be 

(C) ac >be 

(A) an integer 

(C) a positive fraction 

(B)ac~bc 

(D ) ac~ be 

(B) a natw·al number 

(D ) none of these 

38. Which of the following relations is a function? 

(A) R = {(x, y) : x2 + y2 ~ 9} on R 

(B) A= {1, 2, 3}, B = {1, 2, 3, 4, 51 and 

R = {(x, y) : 5x + 2y is a prime number} on A 

(C) A= {1,2,3,4}, B={1,2,3,4,5,6,7} and 

R = {(x, y) I y = x2
- 3x + 3} on A 

(D) None of these 

39. Let R be a reflexive relation on a finite set A having "n" 
elements, and let there be "m" ordered pairs in R. Then 

(A) m = n 

(C)m;;::n 

(B)m~n 

(D) None of these 

40. The natural numbers are grouped as indicated: 

{1}, {2, 3}, {4, 5, 6}, {7,8,9,10}, ..... with ''m" numbers in the 
mth group. Find the sum of the numbers in the llOth group. 

(A) 665,555 (B) 55,555 

(C)450,000 (D) 700,565 
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CLASS : XI · PHYSICS 

41. A point initially at rest moves along x-axis. Its 
acceleration varies with time as a = (9t + 2) m/s2• If it 
starts from origin, the distance covered in 2 s is: 

(A ) 20m (B) 14m (C) 16m (D) 18m 

42. For inelastic collision between two spherical rigid bodies: 
(Assunu? no external forces acting) 

(A) the total kinetic energy is conserved 

(B) the linear momentum is not conserved 

(C) the total mechanical energy is conserved 

(D) the linear momentum is conserved 

48. The vectors A and Bare such that lA + B I = lA-Bl. The 
angle between the two vectors is: 

1Al 415" (B) 90° (C) 60° (D)75° 

mnm&Jnt of inertia of a uniform circular disc of radius 
,_,. M about an axis touching the disc at its 

d and normal to the disc is. 

(8) Mlt' tC'l 
2 

MR2 (D) ~ :MR2 
(; 2 

0 N ppllod on a body for 8 seconds and the 
am.-e~tDOndlnl l1pl m nt 8 m. The powct." oftbe source 

••• 
(A) 20 W (B) 213 W (C)40 W (D) 50W 

48. If 'h' is the height of capillary rise and 'r' be the radius of 
capillary tube, then which of the following relation will 
be correct? 

(A) hr =constant 
h 

(B) 2 = constant 
r 

h 
(C) hr2 ==constant (D) - =constant 

r 

47. A 500 kg car takes a round turn of radius 50 m with a 
velocity of 36 kmph. The centripetal force is: 

(A) 250 N (B) 750 N (C) 1000 N (D) 1200 N 
U C N/2 0 09/XI (PCM) 
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48. The potential energy of a simple harmonic oscillator, when 

the particle is half way to its end point, is: (E is total energy) 

E 
(A ) -

4 

E 
(B) -

2 

2E 
(C)-

3 

E 
(D) -

8 

49. A man of mass 60 kg stands on the floor of a lift which is 

accelerating downwards at 1 m/s2• Then, the reaction of 

the floor of the lift on the man is:. (Take g = 10 mlr) 

(A) 528 N (B) 600 N (C) 540 N (D) 546 N 

50. 743 J of heat energy is added to raise the temperature of 5 

moles of an ideal gas by 2 k at constant pressure. How much 

heat energy is required to raise the temperature of the same 

mass of the gas by 2 kat constant volume?(Take R = 8.3 J!k-mol) 

(A) 826 J (B) 743 J (C) 660 J (D) 620 J 

51. E 0 and E 8 respectively represent the average kinetic 

energy of a molecule of oxygen and hydrogen. If the two 

gases are at the same temperature, which of the following 

statements will be true? 

(D) Nothing can be said about the magnitude ofE0 and EH as the · 

information given is insufficient 

52. Two bodies of masses 1 kg and 2 kg are connected by a 

steel wire of cross-section 2 cm2 going over a smooth 

pulley as shown. The longitudinal strain in the wire, is: 

(Take g == 10 mJs», y = 2 x 1()11 Nfm») 

(A) 3.3 X 10-7 (B) 3.3 X 10~ (C) 2 )( 10~ (D) 4 X 10~ 

U C N/2 0 09/XI (PCM} m 
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CLASS: XtfPCM) 
Unified Coun~il 

53. The three vessels shown pelow have .the same base areas. 

uu 
(P) (Q) (R) 

Equal volume of water is poured into three, the force on the base of vessel: 
(A) P would be maximum 
(C) R would be maximum 

(B) Q would be maximum 
(D) Equal in all three 

54. The energy emitted per second by a black body at 27 °C is 20 J, if the temperature of the black body is increased to 327 °C, the energy emitted per second will be: 
(A) 160J 

(C) 480 J 
(B) 320 J 
(D) 640J 

1)3, A block of mass 3 kg is pressed against a rough wall as huwn in the figure. 

~lll = 0.6, ~ = 0.5 

100 N- -..t 

The friction force between the wall and the block is: 
(Take g = 10 mls2) 

(A) 60 N (B) 50 N (C) 30 N (D) 20N 
56. For a wave propagating in a medium, identify the property that is independent of the others?. 

(A ) Velocity 

(B) Wavelength 
(C) Frequency 
(D) All these depend on each other 

U C N/ 2 0 09/XI (PCM) 
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57. A block of wood weighs 4 N in air and 2 N when immersed 
in a liquid. The buoyant force in newton is: 

(A)zero (B)lN (C)2N (D) 3N 

58. The edge length of a cube is 1.32 em, the total surface 
area and volume of cube are, respectively: 

(A) 10.5 cm2 and 2.30 cm3 (B) 10.5 cm2 and 2.20 cm3 

(C) 10.4 cm2 and 2.20 cm3 (D) 10.54 cm2 and 2.298 cm3 

59. Two particles of masses m 1 and m 2 (m1 > m2) attract each 
other with a force inversely proportional to the square 
of the distance between them. The particles are initially 
held at rest and then released. Which one is correct? 

(A) The centre of mass moves towards m1 

(B) The centre of mass moves towards m
2 

_ (C) The centre of mass remains at rest 

(D ) Centre of mass moves at right angles to the line joining 11\ and~ 
60. If a body is raised from the surface of the Earth up to 

height R, what is the change in potential energy? 

(A)mgR 
3 mgR 

(B) 
2 

mgR (C) 
2 

mgR 
(D) --

4 

61. A block C of mass 'm' is moving with velocity v0 and 
collides elastically with block A of mass 'm' and connected 
to another block B of mass 2 m through spring of spring 
constant 'k'. What is 'k' if x0 is compression of spring, 
when velocity of A and B is same? 

mv 2 
0 

(A ) X 2 
0 
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· mv 2 
0 

(B) 2x 2 
0 

3 mv 2 
0 

(C) 2 X 2 
0 

2 mv 2 
0 

(D) 3 X 2 
0 
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62. H the angular momentum of a rotating body about a fixed 
axis is increased by 10%, its kinetic energy will be 
increased by. 
(A) 10% (B) 20% (C)21% (D)5% 

63. Choose the correct statement from the following. 
(A) Time period of a simple pendulum depends on amp~itude 
(B) Time shown by a spring watch varies with the acceleration 

due to gravity 

(C) In a simple pendulum, the time period varies linearly with 
the length of the pendulum 

(D) The graph between length of the pendulum and time period 
is a parabola 

64. In the given figure the position-time graph of a particle 
of mass 0.1 kg is shown. Linear momentum at t = 2 s is: 

x (m) ~~ 

2f---~--

·l/: 
I 

(A)O 

(C) 0.1 kg rnJs-1 

I 

2 3 t (s) 

(B)- 0.2 kg m/s-1 

(D)- 0.4 kg mJs-1 

65. A uniform solid cylinder rolling without slipping along a 
horizontal plane suddenly encounters a plane inclined at angle 
e as shown in the figure. The value of a which could bring 
the cylinder immediately to rest after impact, is: 

(A) 90° (B) 60° (C) 120° (D ) 30° 
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CLASS : XI CHEMISTRY 

66. The smog is essentially caused by the presence of: 

(A) oxides of sulphur and nitro&en (B) 0 3 and N2 

(C) 0
2 

and 0
3 

(D) 0
2 

and N
2 

67. Which of the following is responsible for depletion of the 
ozone layer in the upper strata of the atmosphere? 

(A) Polyhalogens (B) Freons 

(C) Fullerenes (D) Ferrocene 

68. Reaction ofHBr with propene in the pre~ence of peroxide 
gives: 

(A) alkyl bromide (B) 3-bromopropane 

(C) isopropyl bromide (D) n-propyl bromide 

69. Propyne when passed through a hot iron tube at 400 °C 
produces: 

(A) methyl benzene (B) trimethyl benzene 

(C) dimethyl benzene (D) benzene 

70. The IUP AC name of 

(A) 2-ethyl-3-methyl butanoyl chloride 

(B) 1-chloro-1-oxo- 2, 3-dimethyl pentane 

(C) 2,3 dimethyl pentanoyl chloride 

(D) 3,4 dimethyl pentanoyl chloride 

is: 

71. The compounds CH
8
0C

3
H7 and C2H50C~6 exhibit: 

(A) chain isomerism 

(C) metamerism 

U C N/2 0 09/XI (PCM) 

(B) cis-trans isomerism 

(D) optical isomerism 
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72. Which of the following oxide is amphoteric in character? 

(B)CaO (C) Si02 

73. Assertion (A): Alkali metals impart colour to the flame. 
Reason O,t): Their ionization energies are low. 

(A) Both 'A' and 'R' are true and 'R' is the correct explanation of 
'A'. 

(B) Both 'A' and ·1R' are true but 'R' is not the correct explanation 
of 'A'. 

(C) 'A ' is true and 'R' is false. 

(D) 'A'-is false and 'R' is true. 

74. Among the alkaline earth metals, the eletnent forming 
predominantly covalent compound is: 

(A ) calcium (B) strontium 
· (C) barium (D) ber;llium 

75. Which of the following compounds are formed when BCia 
is treated with water? 

CA) B2H6 + HCl 

(C) B20 3 
+ HCl 

(B) H3B03 + HCl 

(D) B
20 3 

+ B
2H6 

76o Polyphosphates are used as water softening ~gents 
because they: 

(A ) form soluble complexes with anionic species 
(B ) precipitate anionic species 

(C) fonn soluble complexes with cationic species 
(D ) precipitate cationic species 

77. Calcium phosphide gets hydrolysed and give: 

(A) H
3
P0

4 (B) (HP0
3

)
0 

(C) PH
3 (D) Ca

3 
(PO 

4
)
2 

78. Sodiwn burns in air to give mainly: 

(A) Na
20 
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· 79~ Whi~h Qf the following is a redox r~action? 

(A) CaC20 4 + 2HCl CaC~ + H2C20 4 

(B) Mg(OH)2 + 2NH4Cl MgC12 + NH40H 

(C) Zn + 2AgCN 2Ag + Zn (CN)2 

(D) NaCl + KN03 NaNOa + KCl 

80. Nitrogen combines with oxygen to form nitric oxide. 

N2(g) + 0 2(g) ~ 2NO(g), AH = + 80 kJ moi-1 

The decomposition of NO(g) is favoured by: 

(A) decrease in pressure (B) increase in pressure 

(C) decrease in temperature (D)increasingtheconcentrationofN2 

81. AH and AS for _the reaction are + 30.558 kJ mol-1 and 
0.066 kJ moi-1 at 1 atm pressure. The temperature at which 
free energy is equal' to zero and the nature of reaction 
below this temperature are: 

(A) 483 K, spontaneous (B) 443 K, non-spontaneous 

(C) 443 K, spontaneous (D) 463 K, non-spontaneous 

82. Kinetic: energy of a molecule is zero at: 

(A)0°C (B) 273 oc 
83. The rate of diffusion of methane at a given temperature 

is twice that of a gas X .. The Jnolecular weight of X is: 

(A) 64 a.m.u (B) 16 a.m.u (C) 40 a.m.u (D) 80 a.m.u 

84. Which of the following statements is NOT correct for 
sigma and pi bond~' formed between two carbon atoms? 

. (A) Bond ener-gies-of sigma and pi bonds are in the order of 264 
· · ·kJ mol-1 · -

(B) Sigma bond is stronger than pi bond 

(C) Free rotation ~f atoms around a sigma bond is allowed but 
not in case of a pi bond 

(D) Sigma bond determines the direction between carbon atoms 
but a pi bond has no primary effect in this regard 

U C N/ 2 0 09/XI (PCM) 
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C LA 5 5 : XI (PCM) qntned CfJWIJCII 

85. In which of the following molecules· are all the bonds NOT 
equal? 

(A) AlF
3 ·(D) ClF

3 

86. Arrange the following elements in the increasing order 
of their non~ metallic character. 

(A) F < N < Si < C < B 

(C) C < B < Si < N < F 

B, C, Si, N and F 

(B) N < F < Si < C < B 

(D) B < C < Si < N < F 

87. Arrange each pair of ions in order of increasing ionic radius. 

(i) Mg2+ and AP+ (ii) 0 2- and S2
- (iii) 0 2- and F­

(A) (i) Al3.-l:" < Mg2+ (ii) 0 2- < S2- (iii) F- < 0 2-

(B ) (i) Mg2+ < ~3+ (ii) 02- < S2- (iii) F- < 0 2-

(C) (i) Mg2+ < A13+ (ii) s2- < 02- (iii) F- < 0 2-

(D) Al3+ < Mff+ CiD o2- < s2- Ciii) o 2- < F-

ss. What transition in He+ ion shall have the same wave 
number as the first line in Balmar series ofH atom? 

(A) 7 -~ 5 (B) 4 - ----} 2 (C) 6 -~ 4 (D) 5 -~ 3 

89. Electrons will first enter into the orbital with the set of 
quantum numbers: 

(A) n = 5, l = 0 

(C) n = 3, l = 2 

(B) n = 4, l = 1 

CD) all of the above 

90. 34.2 g of sucrose (C12 ~ 0 11) are dissolved in 90 g of water in a 
glass. The number of oxygen atoms in the solutions are: 

(A) 3.66 X 1026 (B) 6.6 X 1023 (C) 3.66 X 1024 (D) 6.02 X 1019 

CLASS : XI GENERAL KNOWLEDGE 

91. Which of the following gives the meaning of the word 
'ephemeral'? 

(A) Established (B) Short-lived 

(C) Spiritual (D) Invisible 
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92. Study the relationship between the figures in Set I and 

find the missing figure in Set II? 
I II 

1@1®118181 ?J 

(A) I ~ I (B) I OOJ I (C) I ~ I (D) I ffi~l I 

00.. The Simla Pact between India and Pakistan was signed by: 

(A) Indira Gandhi and Zia-ul-Haq 

(B) Lal Bahadur Shastri and Ayub Khan 

(C) Indira Gandhi and Zulfikar Ali Bhutto 

(D ) Rajiv Gandhi and Benazir Bhutto 

94. Which of the cities listed below is scheduled to host the 

19th Commonwealth Games in 2010? 

(A) Kula Lumpur (B) Bangkok (C) Victoria (D) New Delhi 

~ What does the tenn 'pixel' as used in digital images stand for? 

(A ) Format 

(C) Picture element 

(B) Resource Locator 

(D) None of these 

96. What is the duration of the zero hour in the Lok Sabha? 

(A) 15 .rrllnutes (B) Half an hour (C) One hour (D) Not specified 

97. 'MODVAT' is the name of a: 

(A) tribal group (B) networking technology 

(C) official report (D) tax, imposed on a product 

98. Which one of the following is devoted to the cause of 

human rights? 

(A) Amnesty international (B ) Red Cross 

(C) Group of77 (D) Sandinista 

99. What is referred to as 'the crossroads of Europe, Africa 

and Asia'? 

(A) Nile (B) Amazon (C) Suez Canal (D) Congo 

100. In 0' Clock, '0' is: 

(A) the preposition 'of 
(C) the preposition 'on' 
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(B) often 
(D) over 
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1. c 2. D 3. B 4 . B 5. D 6. c 7. A 8. B 
9. c 10. D 11. A 12. D 13. D 14. B 15. c 16. A 
17. D 18. B 19. D 20. B 21. D 22. c 23. A 24. A 
25. A 26. B 27. c 28. A 29. A 30. c 31. A 32. B 
33. c 34. A 35. c 36. A 37. B 38. D 39. c 40. A 
41 . c 42. 0 43. B 44 D 45. A 46. A 47. c 48. A 
49. c 50. c 51 . B 52. A 53. c 54. B 55. c 56. c 
57. c 58. A 59. c 60. c 61. D 62. c 63. 0 64. A 
65. c 66. A 67 . 8 68. D 69. B 70. c 71 . c 72. D 
73. A 74. D 75. 8 76. c 77. c 78. c 79. c 80. c 
81. D 82. c 83. A 84. A 85. D 86. A 87. A 88. c 
89. c 90. c 91. B 92. B 93. c 94. D 95. c 96. c 
97. D 98. A 99. c 100. A 
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